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%
%¥ Part b)
% Assume N_B8=1
%
ebdb=(0:15)":
eb=10. A(ebdb/10);
p_wbl=l-erf(sqrt(2*eb/5)).*(0.5+8.5*erf(sqrt(2*eb/50);
p_wb2=1-(@.5+0.5*erf(sqrt(2*eb/5))).*(0.540.5%erf(sqrt(2%eh/5)));
p_wb3=1l-erf(sqrt(2*eb/5)). *erf(sqrt(2*eb/5));
p_whd=1-erf(sqrt(2*eb/5)).*(0.5+0.5%erf(sqrt(2%eb/5)));
pwe={p_wbl+p_wbZ2+p_wb3+p_wbd)/4;
semilogy(ebdb, pwe)
% Part )
% Assume N_@=1
d_i=[-3+3*3 -1+3*3 1+3*3 3+3*3 -3+j*1 -1+3*1 1+3%1 3+43%1 -343%-1 -143*-1 L+j*-1 3+9%-1 -3+j*-3
-1+3%-3 143%-3 34§%-3];
pub=8;
for jj=1:16
for kk=1:1%
1F(jj~=kk)
delta_E=(d_i(jj)-d_1i(kk)I*conj(d_i(3i)-d_iCkk)}*2/5%eb;
pub=pub+@.5*erfc(sqrt(delta_E/4)):
end
end
%[33 pub]
i
¢ (pub/16)
semilogy(ebdb,pwe,ebdb,pub)
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